H & 0l & AHS B Ml A

ot
H4k M s
Febletxd EERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
46,746,406 36,916,298 10,830,108
= 6,019,467
[ 300,000
Il 15,071,128
< 25,355,811
S Jyg Hat 46,691,966 36,861,858 10,830,108
= 6,019,467
) 300,000
Il 15,071,128
== 25,301,371
Fa|etxd 7,465,675 4,345,470 3,120,205
SMFEIONL T 2,880 3,600 AT20
203 HF=H| 2,880 3,600 AT20
03 A= PR FAI| 2,880 3,600 AT20
OFdEIY S g2=d 2,880
ISt FEAE 456,000 510,900 /54,900
308 AHAIEHMSOIE 180,000 150,000 30,000
01 HAHHBLEXRS 180,000 150,000 30,000
Odtesdt ditd g X1 180,000
403 THXI M SAH=01H 276,000 360,900 84,900
01 AR A =2 £ 276,000 360,900 /84,900
Odt=st 54 N& 276,000
SLINEFEAMS 526,950 610,785 A\83,835
403 AXIEHMSAH=0ld 526,950 610,785 A\83,835
01 AXISHHA 22 % 526,950 610,785 83,835
OSSAHHl XMelAlE X3 225,000
OAt&ssIH FEXIE 156,600
Ogasit SEXE 145,350
=ME BHE |4 269,200 279,160 29,960
307 elztol & 269,200 279,160 29,960
04 QIZHHAMAIRH 2 X 269,200 279,160 29,960
OFUELHIETHAL 16,200
OF2Sotsdd ZdUe 145,000
OFts RSJIE &8 108,000
et? EZ:s A 100,000 80,000 20,000
307 212+01& 100,000 80,000 20,000
02 B AAHE L 100,000 80,000 20,000
Ogte Zo=2dt g2 80,000
OsY <& &< MHA2 XN 20,000
SRMAFHRIE 2,462,645 2,804,025 N\341,380
308 AXIHSOIA 2,462,645 2,204,025 258,620
01 HAHHBSEEXS 2,462,645 2,204,025 258,620




SN B4
3 =4 ZHY gt
el F|a|gxd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ogte FH2dt 54 860,000
O3y gt 233 NE 648,250
Ot ditd g Xla 754,3%
OMsd 24 CH &z X 200,000
SAAIE RS 15,000 20,000 25,000
403 XM SAH=01H 15,000 20,000 25,000
01 AR A =2 £ 15,000 20,000 /5,000
Ot =AM XS+ XN 15,000
SHE FUAMY SdES NIE 3,600,000 3,600,000
306 £E¢= 3,600,000 3,600,000
01 2d= 3,600,000 3,600,000
OFHE FMUMLY Sd=28 N 3,600,000
ote 2t SIS |4 33,000 0 33,000
308 XM SOIE 33,000 33,000
01 AXEH B EES 33,000 33,000
OgteEdE F21=3 |4 33,000
FoFHHE 9,193,947 8,553,974 639,973
Il 5,774,680
== 3,419,267
Az SE2e X3 612,400 304,800 307,600
403 MR SHHMSAH=01H 612,400 304,800 307,600
01 AXISHHA 22 £ 612,400 304,800 307,600
OAtZHHED S NI 612,400
LEXZAE D18 24 330,000 758,500 A428,500
308 AtAIEHMSOIE 180,000 135,000 45,000
01 HAHHBSEXS 180,000 135,000 45,000
OAtzX=E SN 28l X2 135,000
OZxAtz FeHl XI# 45,000
403 X SHHMSAH=01H 150,000 623,500 473,500
01 AXISHHA =2 £ 150,000 623,500 A473,500
OZAtE HatEdl X2 150,000
EASEH T2 AIHAIY 762,680 0 762,680
) 762,680
308 AXIHHMSO0IA 762,680 0 762,680
Il 762,680
01 HAHHBSEXRS 762,680 0 762,680
OEASE T2 AMHAE 762,680
Jl 762,680
TALE 4 5,995,767 7,000,674 /1,004,907
Il 4,583,000
= 1,412,767
308 AtXIEHMSOIE 5,995,767 7,000,674 1,004,907




SA e
M =A AM 23
o9l BaAS (ehol:®el)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 4,583,000
=S 1,412,767
01 XN B2 LS 5,995,767 7,000,674 /1,004,907
O=xAts Mok X2 5,995,767
Jl 4,583,000
< 1,412,767
AlE 2 JIAHIEH 669,000 490,000 179,000
Il 429,000
= 240,000
403 AXIEHHSAH=201H 669,000 490,000 179,000
Jl 429,000
= 240,000
01 AXISHHA=2EE 669,000 490,000 179,000
OZAtz d&h Al & ZH| X 318,000
Jl 159,000
s 159,000
OZAE JISAIE X2 351,000
) 270,000
& 81,000
=4 2FHEH AIE X2 750,000 0 750,000
403 AXIEHHSAH=201H 750,000 750,000
01 AXIEHM A =2 £ 750,000 750,000
OF¢ =74dH AIE X 750,000
St2sIt SARIY0 X 33,000 0 33,000
403 X SHHMSAH=01H 33,000 33,000
01 AXISHHA =2 £ 33,000 33,000
O8te sJt H42H90] K& 33,000
SNME A FRE293 N 11,100 11,100
403 MR HHMSAHE01H 11,100 11,100
01 MXIHHA 22X 11,100 11,100
OF4E JIH mRE2Y3 X2 11,100
ot RSEds A 30,000 30,000
308 AFAIEHMSOIE 30,000 30,000
01 AXEN B EES 30,000 30,000
Ot "SE43 NE At 30,000
sl E3=MEY 9,286,955 9,534,935 A\247,980
Jl 3,106,990
== 6,179,965
A A ALY 3,704,300 5,574,775 1,870,475
201 er2 3| 13,500 13,500 0
01 AtR2telHl 13,500 13,500 0
OF4retF e 13,500




SA e
B &0 A Asl
el ST Y EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOl 2,394,775 1,869,775 525,000
01 XN BELES 2,394,775 1,869,775 525,000
O=4ter s MM X2 1,245,000
OJt=2=Hel e X 1,104,775
OJt==2&Hl =243 X& 15,000
OF4HZ20F EEASE AIHA(BHOIRXL) 30,000
403 X SHHMSAH=01H 1,296,025 3,691,500 A\2,395,475
01 AR A= 2 & 1,296,025 3,691,500 N2,3%5,475
OF4&AFIHE AIE XIEH 420,000
OJ=2=Xcl A8 X3 876,025
St 1,494,000 1,740,000 A\246,000
Il 996,000
= 498,000
403 AXIEHHSAH=201H 1,494,000 1,740,000 A\246,000
Jl 996,000
= 498,000
01 AXISHHA=2EXE 1,494,000 1,740,000 246,000
OF&FOe XA 1,494,000
Il 996,000
== 498,000
SSAEE AIE 2= X2 2,393,600 615,175 1,778,425
) 1,740,800
= 652,800
403 AXIEHHSAH=201d 2,393,600 615,175 1,778,425
Il 1,740,800
= 652,800
01 AXEHM A =2 £ 2,393,600 615,175 1,778,425
OZSAHdst A2 XA 2,393,600
Jl 1,740,800
=S 652,800
dEsIt |4 1,021,500 827,500 194,000
308 AXIHSOIA 367,500 272,500 95,000
01 XN BSELES 367,500 272,500 95,000
O&HXI JHE K2 A 212,500
OHAl dity et X3 165,000
403 AXIEHHSAH=201H 654,000 565,000 99,000
01 AXIEHM A= 2 £ 654,000 565,000 99,000
dEsIt 54 NE 654,000
frS=sIIE2ESAE 31,200 31,200 0
Jl 24,000
< 7,200
308 AXIMSOIA 31,200 31,200 0




SA: FoHL

B &0 A Asl
&Rl dEEsALY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 24,000
=S 7,200
01 XN B2 LS 31,200 31,200 0
OR=5= sit22 N 31,200
Jl 24,000
< 7,200
SESUHFY 123,070 25,200 97,870
308 AtXIEHMSOIE 7,770 8,400 2630
01 HASHHBSEXS 7,770 8,400 B30
Oz=&ssIt s4dXE 7,770
403 AXIEHHSA=201H 115,300 16,800 98,500
01 AR A =2 £ 115,300 16,800 98,500
O28sIt JINHHAIZ 15,300
OXIH0l Atz ZSAlId XA 100,000
SFEF ICT JIHEHI 75,000 90,000 15,000
Jl 50,000
S 25,000
403 AXIEHMSA=01d 75,000 90,000 15,000
Il 50,000
= 25,000
01 AXIEHM A= 2 £ 75,000 90,000 215,000
OAFHZ=ZF ICT J1HEHl XA 75,000
7l 50,000
S 25,000
IEER 0lIE2=d 444,285 631,085 186,800
Jl 296,190
[ 148,095
308 AXItHS0IA 444,285 631,085 186,800
) 296,190
= 148,095
01 X SHHBAEXS 444,285 631,085 186,800
OJEER 0185l 444,285
Jl 296,190
= 148,095
s==iZc 20,745,389 13,427,479 7,317,910
= 6,019,467
[ 300,000
Jl 6,189,458
[ 8,236,464
=MsIIES 646,200 646,200
308 AXIHSO0IA 16,200 16,200
01 HAHHBSEEXS 16,200 16,200




SA e
B &0 AW Asl
el SESA2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORIl - N 4= sl X2 16,200
403 AXIEHMSAH=0ld 630,000 630,000
01 A= 2L 630,000 630,000
Oblch s& 2H=s |54 Xd 630,000
S=2sXE 512,340 628,640 116,300
201 fer=3| 47,700 0 47,700
01 At 22|l 42,700 0 42,700
OodA JIZ2EI 29 22l 42,700
2 S5=24g4l 5,000 0 5,000
OodA JIEEI 2¢ 2| 5,000
308 AXIMSOIA 464,640 448,640 16,000
01 XN BSELES 434,640 418,640 16,000
ORJIsS= Hcl 359,640
Oogldls= sHAE 75,000
13 SI[2SOHe & EAS A 30,000 30,000 0
OMFEE e & SE25 8= 30,000
PAsSE sSOIEZE(HEAY) 120,000 120,000 0
403 AXIEHHSAH=0l 120,000 120,000
01 AXISHHA=2EXE 120,000 120,000
Ot =2 =0I8xd 120,000
2020l sdate+=tl X 598,636 599,460 NB24
= 232,480
& 366, 156
308 AtAIEHMSOIE 598,636 599,460 N824
= 232,480
= 366,156
01 RSN EES 598,636 599,460 N824
OZ 00| sS4t X 598,636
= 232,480
= 366,156
S=E3dH XX 510,000 1,530,000 A1,020,000
= 300,000
[ 210,000
403 MR HHMSAHE01H 510,000 1,530,000 21,020,000
[ 300,000
S 210,000
01 MXIHH A 222X 510,000 1,530,000 A1,020,000
OsE23HH &X X& 510,000
[ 300,000
= 210,000
S==A L8 MY 4,900 44,100 239,200
= 4,000




SA e
M =p AM 23
el SESA2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 900
308 AtXIEHMSOIE 4,900 44,100 239,200
= 4,000
= 900
01 AXEH B EES 4,900 44,100 /39,200
Ose=X ALE 4,900
= 4,000
= 900
JIET 28 (=1 R8N ) 885,000 900,000 A15,000
308 AHXIEMSOIH 885,000 900,000 A15,000
01 HXEHH B EES 885,000 900,000 15,000
OII=Moll 28 Jr&dl X1 885,000
OlS=AAE 27 Nd 41,916 42,217 A361
308 AtXIEMSOIE 41,916 42,217 A361
01 HASHHBSEXS 41,916 42,277 A361
OOts=XAIERF XA 41,916
{827 dAR2 1,860,325 1,556,375 303,950
308 AFAIEHMSOIE 1,105,375 1,066,425 48,950
01 AX N B ELES 1,105,375 1,066,425 48,950
Hs AERAS Yot 1,015,375
OF4tsIt IHAE A 90,000
403 MR HHMSAHE01H 754,950 499,950 255,000
01 A= 2L 754,950 499,950 255,000
O4sAE slist 754,950
stueeagA A 2,096,892 2,066,400 30,492
Jl 1,747,410
= 349,482
308 AFXIEHMSOIE 2,096,892 2,066,400 30,492
J| 1,747,410
=S 349,482
01 XN B2 LS 2,006,892 2,066,400 30,492
OstuezgA A& 2,006,892
Jl 1,747,410
S 349,482
Fasol=2e] XA (KX (E) 22,714 22,714 0
Il 11,357
= 11,357
307 21201 & 22,714 22,714 0
Jl 11,357
= 11,357
02 2B HAHE L 22,714 22,714 0
O=4rz0/ 22| X2 (ONAZIAL) 22,714




SN EAD
B &0 AW Asl
el s=SsK2d (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| 11,357
T 11,357
EMs01g 2] X2 (KXISH) (A2Z A 916,293 892,905 23,388
J| 704,841
= 211,452
308 AXIHMSOIH 916,293 892,905 23,3838
| 704,841
& 211,452
01 XX B E LS 916,293 892,905 23,388
Osdt201g2e| XN (AHESRH) 916,293
| 704,841
& 211,452
Y 232 AA 46,800 44,616 2,184
| 36,000
T 10,800
308 AtXIHMSOIH 46,800 44,616 2,184
J| 36,000
= 10,800
01 RIXISHHBAELS 46,800 44,616 2,184
O E2=X=A 46,800
| 36,000
& 10,800
JIEPIESEXA 787,997 519,545 268,452
308 AHXIHMSOIH 724,657 501,420 223,237
01 IXSHHBLERS 724,657 501,420 223,237
OYESIIELHRA 351,920
Ogs=IF Fgetd X 342,550
Og==sIt HAEASZH XA 15,187
OR*EEE 88 K& 15,000
403 XX SHHS 201X 63,340 18,125 45,215
01 AXISHHAE2ER 63,340 18,125 45,215
O2==2t sthst K& 63,340
S SO 523,470 485,690 37,780
J| 378,300
= 145,170
308 AXISHMSOIA 523,470 485,690 37,780
J| 378,300
& 145,170
01 XX B E LS 523,470 485,690 37,780
OsMsOHME KA 523,470
| 378,300
& 145,170




SA e
B &0 AW Asl
el SESA2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
BAad S0e 2 T3 28,600 28,600 0
Jl 22,000
== 6.600
308 AIXIHHSOIA 28,600 28,600 0
) 22,000
< 6,600
01 HASHHBAEEXS 28,600 28,600 0
ORadsite ¥H=2dY 28,600
Il 22,000
= 6,600
FAHZ0F ICT S5 AIJ (XIS ) 3,000,000 2,400,000 600,000
Jl 3,000,000
403 AXIEHMSA=Z01d 3,000,000 2,400,000 600,000
Il 3,000,000
01 AXISHHA =2 £ 3,000,000 2,400,000 600,000
O=4H=20F ICT 358 2t 3,000,000
Jl 3,000,000
CcvsgdolZeH(2s) 9,165 9,165 0
Il 7,050
== 2,115
308 AXIMSOIA 9,165 9,165 0
Jl 7,050
[ 2,115
01 HAHHBSEEXS 9,165 9,165 0
OYHEIXIAH X (gdelzet) 9,165
Jl 7,050
= 2,115
SHAS MM SHetetl X 370,049 387,200 A17,151
= 168,080
= 201,969
308 XXM SO0IH 370,049 387,200 A17,151
= 168,080
== 201,969
01 HRESHH B E2ES 370,049 387,200 17,151
OSHNS dANSH Stz X 370,049
= 168,080
< 201,969
QIZHAIE ) SEESAIE SZMEXA 289,800 252,000 37,800
= 165,600
= 124,200
403 THXI M SAH=01H 289,800 252,000 37,800
= 165,600
=S 124,200

<o)
|




SA e
B &0 AW Asl
el SESA2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 AXISHHA=2 2L 289,800 252,000 37,800
ORIZHAIE ) SEESAIE e X 289,800
= 165,600
< 124,200
SE0t et A2 26,000 18,200 7,800
Il 20,000
= 6,000
308 AFRIEHMSOIE 26,000 18,200 7,800
Jl 20,000
= 6,000
01 RSN EES 26,000 18,200 7,800
s0te fads K 26,000
Il 20,000
s 6,000
RIredsS=s 2X25H N 129,127 0 129,127
= 75,957
== 53,170
308 AtXIEHMSOIE 129,127 0 129,127
= 75,957
= 53,170
01 XN EES 129,127 0 129,127
RImasES FXRESH X2 129,127
= 75,957
= 53,170
RIredsS=E Ll N 117,315 0 117,315
= 61,350
[ 55,965
308 AHXIEMISOIE 117,315 0 117,315
= 61,350
= 55,965
01 HASHHBSEXS 117,315 0 117,315
Rllres=S B2l K& 117,315
= 61,350
= 55,965
AOEES=AE ICT AIEEX ZH(EHE) 296,250 0 296,250
Il 262,500
== 33,750
403 AXIEMSA=01& 296,250 0 296,250
Il 262,500
< 33,7850
01 A= 2L 296,250 0 296,250
OADIEFA ICT AIYEX ZH(BHE) 296,250
Jl 262,500
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